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LESSON

1 6-2 Saving and Investing

investing small
amounts of money

EXPLORE ACTITY 1 inB ApiIa12c 8120
Calculating Simple Interest

Interest is money paid by banks and others for the use of depositors’ money.
Simple interest is sarmed wsing the formula | = Prt, where [ is the amount of
interast, P is the principal, or the original amount depaosited, ris the intanast
rate expressad as a decimal, and ¢ is the time in years. Simple interest is paid
at the end of the term based only on the principal at the beginning.

Adi kes regular deposits to rings account to ey for
college. He deposits 51000 at the start of each year into an account that
pays 4% simple interest at the end of each year. He does not deposit the
interest.

A How much interast does Adan’s account earn the first year?

EXPLORE ACTIITY 1 fonti)

Reflect
1. How much interest did Adan’s account earn from the initial
deposit to the end of year 57 from the start of year & to the end of
year 107 How do these values comipare? Explain.

5600; 51600; sample answer: More interest is earned

in later years as deposits are made. If money is saved

reqularly, the amount of interest increases over time.

2. What was the total amount saved from the initizl deposit to the
end of year 57 from the start of year 6 to the end of year 107
Include the amount contributed and the interest.

55600; 56600

EXPLORE ACTIVITY 2 (08 Gcmancsus
Calculating Compound Interest

Compound interest is interest paid not only on the principal but also on
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$632.97; 51,853 37

4. Compare the interest earned during the two five-year periods. Explain the
differenca.

The total interest for the second 5 years is almost triple
the interest for the first 5 because the balance increases
each year with new deposits and the accumulated

interest also earned interest.

5. Compare the final balance in this Explore Activity to the total amount
depaosited and eamed in interest in Explore Activity 1 (see Reflect
question 2]. What can you conclude?

In Explore 1, the total was $5,600 + 56,600 = 512,200.
In this activity it is $12,486.34. With compound interest,
$286.34 more was earned.
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Subtract the principal of $100 to find the interest eamed, $62.89.
The account eaming interest compounded annually will earmn $62.89.

[STE’ EI:I Compare the interest eamed
H im each account.

The account that earms

interest compoundead

annually earns $62.89, which
: is 512,89 more than the $50
é of simple interest earned.

= —
|
| YOUR TURN
| 6. Marlena saved 550in an account earning 3.5% simple interast. How
‘ much more interest would her account eam in 10 years if her account
i earned interest compounded annually instead of simple interest?
| 53.03
b
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[ - any interest that has already been earned. Every time interest is calculated,
I=Prt ) . J— Use the formula for simpls interest. the interest is added to the principal for futwre interest calculations. The
H - - —_— . calculation can be made more than once a year, but in this lesson only interest
; 1= 1000 = . 0.04 | x1= ._40 | Substitute and simplify. compoundsd annually will bz found,
& Adans account earms __ 940 the first year. . R t ) .
5 The formula for compound interest is A = P1 + ¢}’ where Pis the principal,
E‘ B ' Complete the table to show how the interest earned grows aver time. (islheimerestmte expressed asa:!ecimal_,tisthetime in years, and A is the
B balance New o amount in the account after ¢ years if no withdrawals were made.
g phase fol'n::plm d d | balance eamed (at 4% E
= Lilly makes regular deposits to a savings account to save money for 3
§ ! so $1000 1000 $40 retirement. She deposits $1000 each year, and her account earns interest ;
E 2 $1000 51000 | 32000 80 compounded annually at a rate of 4%. E
2 S 3 52000 51000 53000 5120 A How much interest does Lilly earn the first year? =
E ; 4 $3000 $1000 | 54000 5160 A=PF(1+rf Use the formula for compound Interest. i
- 5 54000 51000 | $5000 5200 [— ' [
= = + Subs
: s 55000 | S0 | $6000 | $240 a=too0 (15004 )] susence :
7 56000 swoe | 57000 5280 1
a=(1040 Simphfy:
8 57000 $wo00 | 8000 5320 —
? 58000 Sl | 59000 5360 Sa, Lilly's account earns 51040 _ 51000 =540 the first year.
10 59000 $1000 510,000 5400
Lesson 162 447 448 unie7
B Complete the table to show how the amount in the account H H
accumulates over time. Round all values to the nearest cent. compu"nq s"“ple und
_ — e Compound Interest
r noe deposited balance Imterest lalanl:ge In this example, will compare simpde and compound interest in a situation
new year earned (at 4%) wheremaddilig::: deposits are made.
1 50 $1,000 $1,000 540 £1,040
2 51,040 $1,000 52,040 £81.60 $212150 EXRECEN M
Suppose you have two savings accounts, both with a principal of $100
3 212160 $1.000 317180 $124.86 | $3,246.46 and an interest rate of 5%, but one earns simple interest and one earns
+ | $324646 | s1000 | 5424646 | $169.86 | $4,41632 10y pounded annually. Which account will sarm mors interest afer
5| $441632 | swec0 | 5541632 | 521665 | $5,632.97 (STEP 1) Find the amount of simple interest earned in 10 years.
& $5,632.97 | $1om0 | 5563297 | $265.32 | 56,808.29 I=prt Use the formula for simple Interest.
7 $6,808.29 | s1p00 | 5789829 | $315.93 | 5821422 1=1003 005 x 10  Substitets 100 for F,0.05 for r, and 10 for ¢
s | $821422 | $1000 | 5021422 | $368.57 | $9,582.79 =30 Stmpy.
The ing simple i ill 50.
o | $9,58279 | s1o00 |$10,582.79| $42331 |$11,006.10 . Theaceount saming smple intarest vl <am $
[ E'I'IPI) Find the amount of interest compounded annually earned
o 1511,006.10 | s ($12,006.10 | 548024 |$12,48634 in 10 years.
A=P1+0r Uz the formula for compound interast.
Reflect - - .
= Substiute 100 for F, 0,05 for r,and 10 for £
3. How much interest did Lilly's account earn from the initial deposit to the A=100(1 +005) s o o W
end of year 57 from the start of year & to the end of year 107 A=16289 Simplify. Round tothe nearest cent.
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